Acta Universitatis Palackianae Olomucensis. Facultas Rerum Naturalium. Mathematica

Jaroslav Hančl

A note to the Fourier method of solving partial second-order differential equations

Acta Universitatis Palackianae Olomucensis. Facultas Rerum Naturalium. Mathematica, Vol. 27 (1988), No. 1, 299--306

Persistent URL: http://dml.cz/dmlcz/120200

Terms of use:

© Palacký University Olomouc, Faculty of Science, 1988

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* http://project.dml.cz

ACTA UNIVERSITATIS PALACKIANAE OLOMUCENSIS FACULTAS RERUM NATURALIUM MATHEMATICA XXVII

1988

VOL. 91

Katedra matematické analýzy a numerické matematiky přírodovědecké fakulty Univerzity Palackého v Olomouci Vedoucí katedry: Doc. RNDr. Jindřich Palát, CSc.

A NOTE TO THE FOURIER METHOD OF SOLVING PARTIAL SECOND-ORDER DIFFERENTIAL EQUATIONS

JAROSLAV HANČL

· (Received March 25, 1987)

The Fourier method is known for a long time in the partial differential equations. Combinating this method with a linear transformation enables us to solve a greater class of linear partial differential equations of the second order. This paper is a continuation of paper $\lceil 3 \rceil$.

Let us study the equation

$$a_{1}(t) \frac{\partial^{2} u}{\partial t^{2}} + a_{2}(t) \frac{\partial u}{\partial t} + a_{3}(t)u = b_{1}(y) \frac{\partial^{2} u}{\partial y^{2}} + b_{2}(y) \frac{\partial u}{\partial y} + b_{3}(y)u$$
 (1)

for t \in J₁, y \in J₂, where J₁ and J₂ are real bounded or unbounded intervals.

Definition: We call u(t,y) a solution of equation (1) on

 $(t,y) \in J_1 \times J_2$ if u(t,y) satisfies equation (1) everywhere and $u(t,y) \in C^2(J_1 \times J_2)$.

Theorem 1: Let (1) be an equation defined in the intervals $t \in J_1 = \langle t_0, t_1 \rangle$, $t_0 \langle t_1 \text{ or } t \in J_1 = \langle t_0, \infty \rangle$ and $y \in J_2 = \langle y_0, y_1 \rangle$, $y_0 \langle y_1 \text{ or } y \in J_2 = \langle y_0, \infty \rangle$. Let $c_3 \neq 0$, c_2 , c_1 be real constants such that $Q_1(Z)$ is a solution of equation

$$Q_1''(Z)Z^2 = C_1 Z Q_1'(Z) + Q_1(Z)(C_2 + C_3 Z^2)$$
 (2)

in the interval $Z \in \langle Z_1, \infty \rangle$, $Z_1 > 0$ and let $d_3 \neq 0$, d_2 , d_1 be real constants such that $Q_2(Z)$ is a solution of equation

$$Q_{2}''(Z)Z^{2} = d_{1} Z Q_{2}'(Z) + Q_{2}(Z)(d_{2} + d_{3}Z^{2})$$
 (3)

in the interval $Z \in \langle Z_2, \infty \rangle$, $Z_2 > 0$.

Let us suppose that $c_3a_1(t)$, $d_3b_1(y) > 0$, $a_1(t) \in C^2(J_1)$, $b_1(y) \in C^2(J_2)$, $a_2(t) \in C^1(J_1)$ and $b_2(y) \in C^1(J_2)$ is true for $y \in J_2$, $t \in J_1$. Denote

$$X(t) = \int_{t_0}^{t_1} \frac{ds}{\sqrt{c_3 a_1(s)}} + K_1, \qquad Y(y) = \int_{y_0}^{y} \frac{ds}{\sqrt{d_3 b_1(s)}} + K_2.$$

$$F(t) = (X(t))^{-\frac{1}{2}}c_{1}(X'(t))^{-\frac{1}{2}}e^{-\frac{1}{2}\int_{t_{0}}^{t}\frac{a_{2}(s)}{a_{1}(s)}ds}$$

$$G(y) = (Y(y))^{-\frac{1}{2}} d_{1(Y'(y))}^{-\frac{1}{2}} - \frac{1}{2} \int_{0}^{y} \frac{b_{2}(s)}{b_{1}(s)} ds$$

where K₁, K₂ are real positive numbers. Suppose that

$$a_{3}(t) = \frac{-1}{c_{3}(X(t))^{2}} \left(\frac{1}{4} c_{1}^{2} + \frac{c_{1}}{2} + c_{2} \right) + \frac{\frac{3}{4} a_{1}^{2}(t) + \frac{1}{4} a_{2}^{2}(t)}{a_{1}(t)} - \frac{1}{4} a_{1}^{2}(t) + \left(\frac{a_{2}(t)}{a_{1}(t)} \right) \cdot \frac{a_{1}(t)}{2}$$

$$b_{3}(y) = \frac{-1}{d_{3}(Y(y))^{2}} \left(\frac{1}{4}d_{1}^{2} + \frac{d_{1}}{2} + d_{2}\right) + \frac{\frac{3}{4^{2}}b_{1}^{2}(y) + \frac{1}{4}b_{2}^{2}(y)}{b_{1}(y)} - \frac{1}{4}b_{1}^{"}(y) + \left(\frac{b_{2}(y)}{b_{1}(y)}\right)^{2} \frac{b_{1}(y)}{2}$$

and that the series

$$\mathsf{u}(\mathsf{t},\mathsf{y}) = \left[\sum_{\lambda \in \mathsf{MCR}^+} \mathsf{A}_{\lambda} \mathsf{Q}_{1}(\lambda \mathsf{X}(\mathsf{t})) \mathsf{F}(\mathsf{t}) \mathsf{Q}_{2}(\lambda \mathsf{Y}(\mathsf{y})) \mathsf{G}(\mathsf{y})\right] \in \mathsf{C}^{2}(\mathsf{J}_{1} \mathsf{X} \mathsf{J}_{2})$$

(where for every $\lambda \in M$ is A_{λ} a real number) is convergent and also the first and second partial derivative, term by term of this series with respect to t and y is convergent to the first and second partial derivative of the function u(t,y) with respect to t and y. Then u(t,y) is a solution of equation (1).

The proof is based on verifying equation (1), and we will leave it out.

Theorem 2: Let (1) be an equation defined in the interval $t \in J_1 = \langle t_0, t_1 \rangle$, $t_0 \langle t_1 \text{ or } t \in J_1 = \langle 0, \infty \rangle$ and in the interval $y \in J_2 = \langle y_0, y_1 \rangle$, $y_0 \langle y_1$. Let c,d be non-zero real constants such that $Q_1(Z)$ is a solution of equation

$$Q_1^{"}(Z) = cQ_1(Z) \tag{4}$$

and $Q_2(Z)$ is a solution of equation ψ

$$Q_2^{"}(Z) = dQ_2(Z)$$
 (5)

in the interval $z \in (0, \infty)$. Suppose $a_i(t)$ and $b_i(y)$ (i = 1,2) possess the same properties as in Theorem 1 and for every $t \in J_1$, $y \in J_2$ $ca_1(t)$, $db_1(y) > 0$. Denote

$$X(t) = \int_{t_0}^{t} \frac{ds}{\sqrt{ca_1(s)}} , \qquad Y(y) = \int_{y_0}^{y} \frac{ds}{\sqrt{db_1(s)}}$$

$$F(t) = (ca_1(t))^{\frac{1}{4}} - \frac{1}{2} \int_{t_0}^{t} \frac{a_2(s)}{a_1(s)} ds$$

$$G(y) = (db_{1}(y))^{\frac{1}{4}} = \frac{1}{2} \int_{y_{0}}^{y} \frac{b_{2}(s)}{b_{1}(s)} ds$$

Suppose that

$$a_3(t) = \frac{\frac{3}{4^2} \cdot a_1^{2}(t) + a_2^{2}(t)}{a_1(t)} - \frac{1}{4} a''(t) + (\frac{a_2(t)}{a_1(t)}) \cdot \frac{a_1(t)}{2}$$
 (6)

$$b_{3}(y) = \frac{\frac{3}{4^{2}} b_{1}^{2}(y) + b_{2}^{2}(y)}{b_{1}(y)} - \frac{1}{4} b''(y) + (\frac{b_{2}(y)}{b_{1}(y)}) \frac{b_{1}(y)}{2}$$
(7)

and besides that the series

$$\mathsf{u}(\mathsf{t},\mathsf{y}) = \left[\sum_{\lambda \in \mathsf{McR}^+} \mathsf{A}_{\lambda} \mathsf{Q}_1(\lambda \mathsf{X}(\mathsf{t})) \mathsf{F}(\mathsf{t}) \mathsf{Q}_2(\lambda \mathsf{Y}(\mathsf{y})) \mathsf{G}(\mathsf{y})\right] \in \mathbb{C}^2(\mathsf{I}_1 \mathsf{X} \mathsf{I}_2)$$

(where for every $\lambda \in M$ A_{λ} is a real number) is convergent and also the first and the second partial derivative, term by term of this series with respect to t and y is convergent to the first and second partial derivative of the function u(t,y) with respect to t and y. Then, u(t,y) is a solution of equation (1).

This proof is also based on verifying equation (1). As in Theorem 1 we will leave it out.

Remark 1: The following method is generally known. Let (1) be the equation with the following boundary conditions

$$u(t_0, y) = f_1(y)$$
 $u(t_1, y) = f_2(y)$
 $u(t, y_0) = g_1(t)$ $u(t, y_1) = g_2(t)$

This problem will be divided into four partial problems:

1)
$$u(t_0, y) = f_1(y)$$
 $u(t_1, y) = u(t, y_0) = u(t, y_1) = 0$

2)
$$u(t_1,y) = f_2(y)$$
 $u(t_0,y) = u(t,y_0) = u(t,y_1) = 0$

3)
$$u(t,y_0) = g_1(t)$$
 $u(t_0,y) = u(t_1,y) = u(t,y_1) = 0$

4)
$$u(t,y_1) = g_2(t)$$
 $u(t_0,y) = u(t_1,y) = u(t,y_0) = 0$

The solution of the original problem is a sum of the solutions of those four partial problems 1) - 4.

<u>Remark 2</u>: For example, let us suppose that in Remark 1 the function $g_1(t)$ is expressible as a Fourier series with a weight X'(t) that the ortogonal function $Q_2(Z)$ in the Fourier series is satisfying equation (3) or (5) that the function $Q_1(Z)$ is satisfying equation (2) or (4) and that for every $\lambda \in M$ we have

$$Q_2(\boldsymbol{\lambda}X(t_0)) = Q_2(\boldsymbol{\lambda}X(t_1)) = Q_1(\boldsymbol{\lambda}Y(y_1)) = 0, Q_2(\boldsymbol{\lambda}Y(y_0)) \neq 0$$

Then the solution of equation (1) with the boundary conditions $u(t_0,y) = u(t_1,y) = u(t,y_1) = 0$, $u(t,y_0) = g_1(t)$

may be expressed as described in Theorem 1 or Theorem 2 under the condition that the solution u(t,y) satisfies the convergence conditions of Theorem 1 or Theorem 2.

Remark 3: Let us remark that functions sin y, cos y are suitable ortogonal functions, for example for the bounded conditions $u(t,y_0) = u(t,y_1) = 0$. On the other side, the function $e^y - e^{-y}$ is suitable for the bounded conditions $u(t,0) = \frac{1^2}{1\sqrt{2}} u(t,0) = 0$. The function e^{-x} is suitable for

conditions concerning the behaviour u(t,y) at infinity.

Remark 4: Conditions $u(t,y) \in C^2(t,y)$ and u(t,y) satisfying equation (1) everywhere, are very strong. We may weaken them for example in the sence that u(t,y) satisfies equation (1)

everywhere excepting the set of points of the Lebesgue measure O. Then it is necessary to change some assumptions in Theorem 1 or Theorem 2.

Example: Find a solution of equation (1) under the boundary conditions

$$u(t_0, y) = u(t_1, y) = u(t, y_0) = u(t, y_1) = 0$$

where t_0 , t_1 , y_0 , y_1 are real numbers, $t_0 < t_1$, $y_0 < y_1$, on the region $(t,y) \in J_1 \times J_2 = (< t_0, t_1>, < y_0, y_1>)$. Suppose that (6) and (7) hold, $a_1(t)$, $b_1(y)>0$ for every $(t,y) \in J_1 \times J_2$ and $a_1(t) \in C^2(J_1)$, $b_1(y) \in C^2(J_2)$, $a_2(t) \in C^1(J_1)$, $b_2(y) \in C^1(J_2)$.

Solution: Write

$$c = (\int_{t_0}^{t_1} \frac{ds}{\sqrt{a_1(s)}})^2 \frac{1}{\Re^2}, \quad d = (\int_{y_0}^{y_1} \frac{ds}{\sqrt{b_1(s)}})^2 \frac{1}{\Re^2}.$$

In Theorem 2 we set $Q_1(Z) = Q_2(Z) = \sin Z$. Then, we have

$$u(t,y) = A \sin\left(\int_{t_0}^{t} \frac{ds}{\sqrt{c \, a_1(s)}}\right) \cdot \sin\left(\int_{y_0}^{y} \frac{ds}{\sqrt{d \, b_1(s)}}\right) \cdot$$

$$\frac{1}{2} \left(\int_{0}^{t} \frac{a_{2}(s)}{a_{1}(s)} ds + \int_{0}^{y} \frac{b_{2}(s)}{b_{1}(s)} ds \right)$$

$$\cdot (a_{1}(t) b_{1}(y))^{4} = \frac{1}{2} \left(\int_{0}^{t} \frac{a_{2}(s)}{a_{1}(s)} ds + \int_{0}^{y} \frac{b_{2}(s)}{b_{1}(s)} ds \right)$$

which is the solution sought.

The paper was suggested by Professor M.Laitoch.

REFERENCES

[1] Bochner, S., Chandrasekaran, K.C.: Fourier Transforms, Princeton, 1949.

- [2] K u f n e r, A., K a d l e c, J.: Fourier series, Praha, Academia, 1969.
- [3] Lait och, M.: To a problem of ortogonal systems with weight, Acta.Univ.Olom. 3 (1960), 11-28, (Russian).
- [4] Widder, D.W.: The Laplace Transform, Princeton, 1946.

POZNÁMKA K FOURIEROVĚ METODĚ PARCIÁLNÍCH DIFERENCIÁLNÍCH ROVNIC DRUHÉHO ŘÁDU

Souhrn

V článku se ukazuje možnost použití Fourierovy metody k řešení parciální diferenciální rovnice 2.řádu typu

$$a_1(t) \frac{I^2 u}{I t^2} + a_2(t) \frac{I u}{I t} + a_3(t) u = b_1(y) \frac{I^2 u}{I y^2} + b_2(y) \frac{I u}{I y} + b_3(y) u$$

Přitom se využívá Kummerovy transformace řešení obyčejné lineární diferenciální rovnice 2.řádu.

Použití metody je ukázáno na příkladě.

ЗАМЕЧАНИЕ К МЕТОДУ ФУРЬЕ ДИФФЕРЕНЦИАЛЬНОГО УРАВНЕНИЯ В ЧАСТНЫХ ПРОИЗВОДНЫХ ВТОРОГО ПОРЯДКА

Резюме

В статье показывается возможность решать дифференциаль-

ное уравнение с частными производными второго порядка типа

$$a_1(t) \frac{I^2 u}{It^2} + a_2(t) \frac{I u}{I t} + a_3(t) u = b_1(y) \frac{I^2 u}{Iy^2} + b_2(y) \frac{I u}{I y} + b_3(y) u$$

метсдом Фурье. Используется преобразование Куммера для сбикновенного линейного дифференциального уравнения второго порядка.

Применение метода показано на примере.

Author's address: RNDr. Jaroslav Hančl UTHP ČSAV Mistecká 17 703 00 Ostrava ČSSR /Czechoslovakia/

Acta UPO, Fac.rer.nat., Vol.91, Mathematica XXVII, 1988, 299-306.